N = O &

A E E Al

A

SN (B) - MBEAY - B2 Lo e HRZ2
PN 10,885,449 11,165,965 N 280,516
Al 302,944
- 10,582,505
HOI2 2% 2 s 7,538,500 7,834,899 N 296,399
Al 302,944
- 7,235,556
MEHIIZ =H L 2 3,525,456 3,156,856 368,600
SEHNSE L HEHIISAEIH 22| 210,970 209,483 1,487
201 LErEAH| 210,970 209,483 1,487
01 AtR22ld] 209,487 208,000 1,487
OSHMLLLSEME 189,947
oEHMN & 3,172,8670H*56.5& 179,267
0338 & 60,0000 *178& 10,680
OJIIEANEHSE M= 22,0000 *311 6,842
OUEHIIZAEIZA H& 71,0310 *x162& 11,508
O£z ¢ Mt DXAM 174 XH+70,000& 1,190
02 222ZH| 1,483 1,483 0
OSEM =5 s/weAIE4=H|
(295,590 43| )+(0lid] 2=2ld| 300,000&) 1,483
IMEAMSAHSE =H Hel 120,700 122,023 A 1,323
307 QIZtolA 120,700 122,023 AN 1,323
05 oIt 120,700 122,023 N 1,323
OJMNEAMEHSEHKH -l
10,058,333 x12& 120,700
MEHIIZ2 =& .28 Ml 2,537,827 2,075,629 462,198
307 QI2t01A 2,537,827 2,075,629 462,198
05 QIZIFE = 2,537,827 2,075,629 462,198
OMeHIIE =& 208Kl U=
2,537,827,000& 2,537,827
MEHIIZ =THHHE A L A24E B X2l 361,521 441,930 A80,409
403 X XSHHSA20/H 361,521 441,930 A80,409
02 ZJ|2SOCHSCHE ALY 361,521 441,930 A80,409
OMEBHIISSCHNRUNLA2AE AR
22,152& 16,3203 361,521
EHINZE =H Hel 270,147 305,109 N34,962




2A: iJAéHI‘Iﬂl-

M Hol2 2 & H3E

Crol: MEBHIIE 401 2 2 CLE-E
_ ) _ PSIEl
SN C(BH) - NRAY - HES 0l &k o e HlmE2
307 2IZ2t0lA 220,661 257,648 A 36,987
05 BIZIRIEZ 220,661 257,648 AN36,987
OUEHIIS+=HAKNlY| 18,388,409 12 220,661
308 XHXISHSO0IE 49,486 47,461 2,005
05 XXX REZ 49,486 47,461 2,025
OUZEHIISHS A2l
2,268.85&+21,811& 49,486
Mol LAIESE 22 22,191 2,682 19,509
201 Let3| 780 780 0
2 =2z 780 0 780
OZAEEE MIIR= 780,000& 780
307 2IZ2t0lA 1,452 1,452 0
05 QIZtREZ 1,452 1,452 0
OMBIIH 2R ROIAA A AB S A
121,000 =128 1,452
405 KHAHFESHI 19,959 450 19,509
01 X =SFHSHI 19,959 450 19,509
OHOIUGI2A 7Y 4,989,600% +4} 19,959
MTEDIS oIS SREsE X2 2,100 0 2,100
201 Let3| 2,100 0 2,100
01 At®2teldl 2,100 0 2,100
OMBHIIZ SEE4 M
70,0003 *15J1 x23] 2,100
TAEE HEA 22 675,024 608,314 66,710
A 283,944
- 391,080
tzdass XN 115,931 93,129 22,802
201 Let3y| 112,931 90,729 22,202
01 AR 2teldl 40,650 24,525 16,125
OEZHANSGUELBE 40,650
oDttH(HE==HE) 600:& *2,0004 1,200
0B AZZ I (THHI)
1,700 x25F S+75H « 12 38,250
o&f 5,000& x75H 375
o Mg &I 11,000& »75H 825




S EHAME D
M oIS 2 # NS

SRl TAIEE EOH’_C‘M\_ 22| (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

02 =324l 72,281 66,204 6,077
QetAMEEZ2(H23) 2,045
o dSHEAI 135,220 *4CH *23] 1,082
o gtal=X} 177,220& x 1 *x23] 355
0SSAHUEY) 170,650 * 101 *x23] 342
oBEIHEE) 66,360 *x2[H*23| 266
OFAXNEE2(H13]) 5,434
o MBSHEAIL 625, 3403 *4LH 2,502
o ek Xt 1,377,190& = 1CH 1,378
OSSXHUY) 461, 7102 = 1H 462
oSt=XHEEH) 545,550 *2CH 1,092
OXS XAl 222
oBEAHUE) 75,520& * 1L *x 13| 76
032IHEYH) 36,3303 20 *23| 146
O&AZESXHH| 55,000& *20CH 1,100
OPNE=Fak=ls] 63,480
o MBEAX 11,023,230 =4 CH 44,093
o A= Xt 6,969,330 ~1CH 6,970
oBEAHUE) 6,011,920 = 1CH 6,012
03E2IHEYH) 3,202,440 *2CH 6,405

203 YRF&H| 3,000 2,400 600

03 ABMF=XAIFZRIHI 3,000 2,400 600
OFAZHAAHARFA 3,000,000& 3,000

CHAAGE X228 80,000 66,000 14,000
Al 40,000
- 40,000

201 LBtEAH| 80,000 66,000 14,000
Al 40,000
- 40,000

01 ArR2t2|bl 80,000 66,000 14,000
OLHAEAXSR X 22 ] 80,000,000 80,000
Al 40,000




S EHAME D
M YIS 2 2 NS

@2l TAEE EOH’_C‘M\_ 2 (SR :H&)
X
Ha . o9l(3H) - MR - BAS Abod e HlDE2
- 40,000
2AH Jls=EEt 12,000 16,000 A4,000
Al 12,000
07 gI2tol ™ 12,000 16,000 24,000
Al 12,000
QIZtREF 12,000 16,000 A 4,000
O&EA2gANIIS= 12,000,000& 12,000
Al 12,000
S| YDl £=H Ml (HEA 35,002 30,000 5,002
Al 17,501
- 17,501
307 2IZ2t0lA 35,002 30,000 5,002
Al 17,501
= 17,501
QIZtRIEZ 35,002 30,000 5,002
OQHEALM 2l 35,002,000& 35,002
Al 17,501
- 17,501
C2EZ0ISHA AIIEE 1,005 1,605 A 600
201 Lt 235 335 A 100
01 At®22teldl 235 335 A100
OEHEHT(C2BA0ISE, ZAR2T)
15,0003 x9Z 135
Oz Z0IstA S22 100,000& *1 100
301 etEa3a 770 1,270 A500
12 JIEtE &= 770 1,270 A500
OEHEMNE(EZ&Z0IFA HLRSA)
30,000& x9H 270
OEZEZDIHZEUEI RN LS
100,000& x5=*1H 500
BZUHEZE2S 2,200 1,580 620
201 Let3| 2,200 1,580 620
03 AI2ZHI 2,200 1,580 620
OstZdUEA2SFXI(H43]) 2,200
=y 70,000 =54 350




S EHAME D
M YIS 2 2 NS

Siol: CAEE HEA B (9 &e
SH-EFHHA(FA) - NIRAE - BES O AFH ggi Hws2
o O JH 2,0002! *600H 1,200
0B DEI R 20021 +2,000H 400
o & 1,00024 %2504 250
NBHATY P 200,000 400,000 200,000
Al 100,000
= 100,000
405 XtatE =H| 200,000 400,000 200,000
Al 100,000
T 100,000
01 KAUSEF =y 200,000 400,000 200,000
OL-HAZTHARIE 7 (10H)
200,000,000 200,000
Al 100,000
= 100,000
Darazie el 200,000 0 200,000
Al 100,000
-+ 100,000
405 XtarE =H| 200,000 0 200,000
Al 100,000
T 100,000
01 RAUSE3F =y 200,000 0 200,000
ODnaraie g 200,000,000 200,000
Al 100,000
= 100,000
ARIE MYDIS SAMRIKR ALY 28,886 0 28,886
Al 14,443
= 14,443
307 ©I20IH 28,886 0 28,886
Al 14,443
7 14,443
05 QIeiEra 28,886 0 28,886
O/FXIE MAIIS 2 HH 2l 28,886,000 28,886
Al 14,443
2 14,443
49,589 45,150 4,439
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SN HABID

Nz @2 22 ¥ (e
el SA2E B2 K8 CrRL
] _ _ PIEL=
S-S (B) - MEAY - B2 Of) &F o8 e HD=2
e 512629 T 536,645 723,816
OSAsZHIISH S e {512,829
oSAlZ AT 2u juE
1,062,829,000& 1,062,829
OHIAA SA2 HellHa
75,000& 6,000 450,000
308 KXISHE0IA 882,000 1199, 128 A317.128
05 XXESHZ2tESZ 882,000 1,199, 128 A317,128
OsAs2HIEH B
18,000E %49, 000& 882,000
SASIEELNED] 7Y 28,000 8,000 20,000
201 LBr2d9d| 28,000 0 28,000
T 28.000 0 26.000
OsSAsSdEsLHED| 7Y 40,000 *700H 28,000
SAZSFHIIE S&xH AIYAA 54,012 0 54,012
201 LEt2d9d| 19,570 0 19,570
01 AtR2t2lb] 19,570 0 19,570
Osl£=9 M& 70,0002 =154 1,050
O=E2 H& 32,000A CH =120 x33] 11,520
OxNEI 7Y 7,000
054 &I 5,000 1004 500
0250 2| 10, 00021 <6507} 6,500
307 212H0|H 34,442 0 34,442
05 QIZ2ZIAEZ 34,442 0 34,442
O=HEA 21| 34,441 560 «1H 34,442
SASHBAHEI| NEAY 73,872 0 73.872
307 GI2+0| & 73,872 0 73,872
e 73.872 0 73.872
OM=EIZ geeg
10262 *4,50074* 163! 73.872
MEE2E I3 22| 650,858 760, 146 A 109,288
ME2E Helld A 632,142 751,136 A 118,994
307 212001 & 632, 142 751136 A 118,994
05 QIZIAEZ 632, 142 751,136 A 118,994
OMEEEM e 595,373




SN HABHD
o HOIS 2Y U KR

&Rl WEass UEe 2l (el &)
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
o3&, 28l 132,935& +4,253& 565,373
o & Xl 30,000, 000& 30,000
OZtMA Il Meldl = 36,769,000 36,769
Hes s s A 2,200 5,700 23,500
201 ZEH2IH] 2,200 2,200 0
01 Atf2teld 2,200 1,000 1,200
OMe=g2sHE 1,000,000& 1,000
OMgE=clItiE 82 s+ M
1,200,000& 1,200
Us&H 29¢ 2,900 2,310 590
201 ZEH2IH] 2,500 1,910 590
03 @At2EH| 2,500 1,910 590
OUus&E=¢g 2,500
oE2= N 2,000,000& 2,000
o#MAI=EE ¢ 500,000& 500
301 YBtEAZ 400 400 0
12 JIEt2 43 400 400 0
OUs&EEHRFI 2Ly 400
0 xR+ 200,000& 14 = 200
0= 100,000& 21 = 200
1283 MELH =& 2,000 1,000 1,000
201 LEHRHH| 1,000 500 500
01 AR 2cldl 1,000 500 500
Ol EZELESNHE 1,000,000 1,000
301 Lptsazg 1,000 500 500
12 JIEIE& =3 1,000 500 500
Olel2s A NEas 1,000,000& 1,000
Mas8s 2=l Alg &X 29 11,616 0 11,616
201 LEH23H] 4,408 0 4,408
01 Atf2teld 4,408 0 4,408
Ozl &X 22 &+2 X
= 70,0003 100113 700
OMEES2Cl+=HE Ot P 3,708




SN HABHD
o HOIS 2% L KRs

&Rl WEass UEe 2l (el &)
Hd . XM . CLO (5 . HE A . HAS A} OH dEE =5
01004 (37) 3302 *96 0 523 1,648
02004 (471) 5503 * 7201 x523] 2,060
405 XHAHESHI 7,208 0 7,208
ML =S EFH 7,208 0 7,208
OM&ssE 2e=Hl 7 7,208
037 1ME 160, 600 244 3,855
047 1ME 139,700 *24 4 3,353
TSR] EN 1 61,460 22,460 39,000
Al 19,000
- 42,460
St EA 2 9,890 9,890 0
22| 9,890 9,890 0
At 22l | 1,500 1,500 0
SSStEa 1,500, 000& 1,500
2234 8,390 8,390 0
ST EF 780,000& 780
SSEA S 4,200,000& 4,200
=SS 3HEALEHH](1,0002] E) 910, 000& 910
SSSHEER 2,500,000& 2,500
4 FUl. =3 48,000 10,000 38,000
Al 19,000
- 29,000
PNR=R 1= fa] 48,000 10,000 38,000
Al 19,000
- 29,000
NE=1:1 48,000 10,000 38,000
SEUH 253 A
38,000, 000& 38,000
Al 19,000
- 19,000
Ot e==3t 2 24 Hl
10,000,000& 10,000
4 2 HIISHEMEE 228S 3,570 2,570 1,000
2Bt A 3,570 2,570 1,000




fAN: HAMF D

ME: Hol2 2y L KHs
o9l BEA o FaX e (e19: @8

_ _ HE T
SNBSS - MBAY - BES arey e {imE=Eh
01 AtR2cldl 2,250 1,250 1,000
OFAHUHEAM 550,000& 550
o) BIEERPY S Mol
1,000,000& 1,000
O 88 70,000% *10H 700
02 =224 1,320 1,320 0
OFL0UZ SH 220 *6,0000H 1,320
A=gd o= 3,360 476,360 A473,000
HIlS2& &M X 3,360 3,360 0
202 O 3,360 3,360 0
01 =LAl 3,360 3,360 0
OHJISZMAN=EHL =
10,0002 x2E 142 123 3,360
HE2AHH (HLAHE 3,346,949 3,331,066 15,883
QAR AH(HAMEY 3,313,605 3,299, 149 14,456
ol Al MR AR ( i) 3,313,605 3,299, 149 14,456
101 1A 3,309,405 3,294,949 14,456
09 RIIAHAZ 3,309,405 3,294,949 14,456
Oo==z&&0l 3,284,511
oJles 1,117,570& 778128 1,032,635
oJl¥g 843,780 *77H #4323 259,885
od2=¢ 843, 7803 »77E »23| 129,943
oXM=E A 843,780 x77E #52 324,856
o EE S I 1,012,540 »77& »23] 155,932
0SE=URE 90,000& x77&812& 83,160
oMYA 70,000 x77E *12& 64,680
0ItELY
(40,0002 x60& 128 )+(20,0002 140 * 12
) 62,400
RS RA= g 160,000& 77 &« 122 147,840
0MAHEX 110,000& «77&E 128 101,640
ousSEX 140,000 «77E x 128 129,360
0542% 51,0202 77 +85 333,926
oHX==E 68,0403 77 x 14 +1 .1 80,682

_‘]O_




SN
X XH .
(=

chel:

o 02 (k
JO 0x B>~
H0 M0 0%
02 02 0x
Ty
— [T
0 =
B> ok
02 b
02 0

& ox

\./\__:|

C

x
0
Ja

[(BIH) - NIRAIS - BES

_|

22
J2

Il

(@)

m} 424 2603 x29H *4 3

=g 4, 2503 +77 B 243
83 20,000 +77YH
CHaldl 75,000 x77H *23]
= 1,000,000& =1

= 30,0003 x77H +12&

A3 2,356,000&
EN)] 2,280,000

9 4,560,000&

57,0003 20 x4 3]

P 33,5303 x77H 128

127,5043 302 »2. 754

2,660,000

760,000

3,040,000

380,000

760,000

3,800,000&

1,900,000&

760,000

= 760,000

1,084,000

3,040,000&

g(0tetE ¥ solth =H)
6,303,000

21,086,620& *1/2x 128

32,7303 3652

995,537& *400%1H

53,775
4,560
49,215
79,522
1,540
11,550
1,000
27,720
30,982
10,520
28,140
2,660
760
3,040
380
760
3,800
1,900
760
760
1,084
2,356
2,280
3,040

4,560

6,303
126,520

24,894
11,947

3,983
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SH: FAHFD
M HNSAAH|(HAHE D)
Chel: ol 2od|(HAMF D) (9 @
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
oAt 2RLY
EAMAZ 4,000 +1.5%15A| 2Hx 128« 1H 1,080
XIS Y
EAAUZ 32,7302 %18U*1H 590
052422 xE
EAAS 4,000 +1.5%80A 2tx1H 480
02E 2SI 90,000 «12& 1 1,080
o JFHXIHI(4,7,108)
11,946,450 / 12%50%+*33] x 1 1,494
o A 130,000 * 122 1 1,560
oWEBXEH] 70,0002 * 12& «1H 840
oEAZZHY| 50,0002 x 12& *1H 600
0 2=H] 50,0002 * 12& «1H 600
0 HESIH 300,000 *23] *1H 600
0 23X S & AtHI 20,000 25| x1H 40
203 HP=ZH 4,200 4,200 0
04 BA2IAR=ZH| 4,200 4,200 0
OB NSYAL=XH|(302! 0lad})
350,000 122 4,200
Jl2dd(HAag8d) 33,344 31,917 1,427
JI22ZH MSAS(EASMED}) 33,344 31,917 1,427
201 LEr2YH| 20,864 19,287 1,577
01 At222iH] 20,864 19,287 1,577
Ot 2H| 54,5002 « 18 « 122 11,792
OZ=&Hl 7,000 x 18«6 A x 122 9,072
202 04 12,480 12,480 0
01 =2LHOoiYI 12,480 12,480 0
O=X 0 10,0002 x 13H «8L x 12& 12,480
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